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	 a, b �����
�����√
a2 + b2,

√
4a2 + b2,

√
a2 + 4b2

��
��
������

(1) 	��
�
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�

�
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����

�� a, b 
 �
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��� �
���� (2, 7), (12, 3) � (7, 11) ���
���!

���������"������!�
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���

��������������

(7, 11)

(12, 3)

(2, 7)
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��
��� = 10 · 8 − 1

2
(10 · 4 + 8 · 5 + 5 · 4) = 30.

(7, 11)

(12, 3)

(2, 7) 8

4

4
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	 abc ��
�����	�����



(1) abc ������$��� c ������

!�

(2) abc ��� 3 ����$��� a + b + c �

�� 3 ����!�

(3) abc ��� 9 ����$��� a + b + c �

�� 9 ����!�

(4) abc��� 11����$��� a− b + c�

�� 11 ����!�

���%
�&��������� 5 ���� 13 �����

�������	� 19��������	��	��
���

����

19|abc ⇔ 19|(10a + b + 2c),

�����abc ��� 19 ����$��� 10a + b + 2c ���

19 ����!�

7



�����

���

������������������	����

	������
�� 2, 3, 9, 11, 13�������
�����

	�	���!��	�����
�����������	

���������	���
��	�������

d|a, d|b ⇒ d|(am + bn).

�� 19 ������!��	��n + 1 ���	�

anan−1 · · · a1a0

� 19 ���������

10an + 20an−1 + 21an−2 + · · · + 2n−2a1 + 2n−1a0

�� 19�������
������������'����

�����	�
��
	�
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(1) �����

(2) �������
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�������%�
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����

�����	Ǳ��5�����6���

(1) �����2�����.������	��2����

�
�������
�3��
��������� 1 �

���	���
 ��

(2) ��Ǳ
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����� ������
���

����	��2�����
#
������
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(1) 7Æ�Æ8�"�"������
�.

��#
��.�����	 120◦�
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1831 0�������������������������

�9����
� (a, b)!���� a+ bi�
 �#
����

��������������	����1,�:� "0��


����%����"�������
 ��������

��1������
���'!�
 �.�����!��

�!�����,��&��!������,�������

���	���!�����������9��������

��������
�������

�� w = −1+
√

3i
2 '�
������

w2 =
−1 −√

3i

2
;

w3 =
−1 +

√
3i

2
· −1 −√

3i

2
= 1;

w4 = w · w3 = w;
...

������ k � 3 �����wk = 1�� k �� 3 � 1 ��

wk = w�� k �� 3 � 2 ��wk = w2�

�	� w0 = 1, w1 = −1+
√

3i
2 � w2 = −1−√

3i
2 � ���9�

���������.�����
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���������√
1 − 1

2
=

√
1

2√
2 − 2

5
= 2

√
2

5√
3 − 3

10
= 3

√
3

10√
4 − 4

17
= 4

√
4

17
...
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���

(1) �;
���!�

(2) � n 
���!�#����
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=���Ǳ>��?��
��%@����

��3��A��
��<���Ǳ>�Ǳ��

)�Ǳ�B��������Ǳ�� 1 
CǱ

14B�� 2
C)� 1
C� 1.5��� 1B�

� 3
C)� 2
C� 1.5��� 1B����

(1) �
��<�� 5 
CǱ�B�

(2) ��� n 
C��������Ǳ���� n 
C�<�Ǳ

>�B�� n 
 ��
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(a) �<���Ǳ>���)��Ǳ�)�����Ǳ�����

��Æ
��EǱ 5 B�30 E
Ǳ 930 B���E)��E

�Ǳ���

(b) ��<���Ǳ>��E�Ǳ>�E���Æ
��EǱ 5

B����EǱ 1 B�
Ǳ� 30 E�	
Ǳ>���

��� (1) �� n EǱ>��	� an B������� 〈an〉 

*

an = an−1 + 3. (1)


��)����� ����������
�B���E

 �F��G������1�H���/����+����

Ǳ
1

2
+

1

22 +
1

23 +
1

2n
+ · · · = 1.

���� n E� ���	� an B������� 〈an〉 
*
an =

an−1

2
. (2)


*��� (1) ��/ 〈an〉 �����/��
*��� (2)

��/ 〈an〉 ���)�/�����)�/��I�
����
	���/�����/!������ an �"��


����J��D
�
���	����K an ��<�

� n 
CǱ>B���	�� an � an−1 �
*�����#Ǳ


������ an �"��

18



�

� �

�

� �

�
� �

�� 10

��

���
����������� 1, 2, 3, 4, · · ·
�����������������
���

��

1
2

3

4

5

6 7

8
9

L�����	��/����������Æ�����L�

������,%����
����������+)���

������ 323 ���

Æ
�/��������� 1, 2, 3, 4, 5, · · · �""����
������������L������������
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1 + 3 + 5 + · · · + (2n − 1) = n2

!�
�������+"�����!�����������

�
!������
�����������

1 + 3 + 5 + · · · + (2n − 1) = n2

��
��������M�N������
�������

Proof Without Words ��������������
����

�!�������������������	������

��������$����� ����!��2�Ǳ���

���������������?4��!�
-
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�

��-� y = f(x) ���� x1����,�/

〈xn〉 �
xn = f(xn−1) n ≥ 2.

��,����	���,�/��
����

-��(�
�,	��-������-��

���/�����	�����������


�,�/�

��������.�"���

-�

f(x) =
5

3
x3 − 15

2
x2 +

47

6
x + 1

���� x1 = 1 ��
���
�,����,�/ 〈xn〉�
(1) � x2, x3 ���

(2) �	����� xn�"��
1 2 3

1

2

3

4

−1

−2

−3

−4

21



�����

�
����3OP!:����Q������������

Æ
 ����Ǳ����R5��	���S�������

�T�.�����������������
������

���


�/
����
0�����U���3�������

"���������������
�S�����ǱǱ�&

�������
����	�������U����&��

��������*�
��������

�/
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���

����:���������	���√
1 +

1

32 +
1

42 =
13

12

�?6������������������

������!���$���������

*�

�����+√
1 +

1

12 +
1

22+

√
1 +

1

22 +
1

32+

√
1 +

1

32 +
1

42+· · ·+
√

1 +
1

992 +
1

1002 .
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����:����Ǳ�������

�
����� √
1 +

1

32 +
1

42 =
13

12

��
���'���:
����.���√
1 +

1

n2 +
1

(n + 1)2

��!�:�����
�
���!���√
1 +

1

n2 +
1

(n + 1)2 =

√
n4 + 2n3 + 3n2 + 2n + 1

n2(n + 1)2

=

√
n4 + 2n3 + 3n2 + 2n + 1

n(n + 1)
.

���
������!�
�������*�
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���

	 n ���	�������

f(x) = (1 + x + x2)n

 
��6��/�

a0 + a1x + a2x
2 + · · · + a2nx

2n.

��

a0 + a3 + a6 + · · · = a1 + a4 + a7 + · · · = a2 + a5 + a8 + · · · = 3n−1.
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�����������
���

f(x) = a0 + a1x + a2x
2 + a3x

3 + a4x
4 + a5x

5 + · · · .

��
���-��

f(1) = a0 + a1 + a2 + a3 + a4 + a5 + · · ·
�

f(−1) = a0 − a1 + a2 − a3 + a4 − a5 + · · ·
� ���� f(x) ��� a0, a1, a2, a3, a4, a5, · · · �������
�(����

(0) ����� a0 = f(0)�

(1) ����+

a0 + a1 + a2 + a3 + a4 + a5 + · · · = f(1).

(2) �"���+

a0 + a2 + a4 + · · · =
f(1) + f(−1)

2
.

(3) �"���+

a1 + a3 + a5 + · · · =
f(1) − f(−1)

2
.


����Ǳ��

� x ,��� 1 � −1 ��!Ǳ��$�

�� 1 � −1 �&����'���!���������	�

������ x2 = 1 ����� 1 � −1�
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��U��
X5Y���
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13
√

13 ©©©©©©©©©
�

��������,

������

�����������)�X5YÆ
���

	�#
 �������

X5Y$��
������
�������
�	��	



�	���	�	�2�� log 2 ≈ 0.3010, log 3 ≈ 0.4771, log 7 ≈

0.8451, log 13 ≈ 1.1139
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20010 12C 7E����
�� 213466917− 1�

'�\���
��Ǳ�
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�����
�����"�

Electronic Frontier�!��2
�����!����� 1000�

������������� 20050 12C 15E��!��<�


�����"�"���
���� 700 �3�����'�

�����5A�]�2006 0 3 C����
���
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�����!������#�.����
�G������

#�� ����
!�'�������/ 〈2p − 1〉�)���

 2p − 1 
������ ����Ǳ���
�����	�

-� 2p − 1 �S�)�)(������ �����!Ǳ��

$������������� �����!Ǳ� �!�

�����������
���8�)�
��������

���#���������	��������������

#�������-��
������
�8� 230402457 − 1 �


��*�
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��

����
 ABC��� AB, BC � CA �
�

#� c, a � b 
 ���� ∠ACB �#� C 


 ������� B ��U� BC = a �F"

��
��#
��
 ABC ���$����

�^�

(1) �
��������#� a, b, c � C 


 �

(2) �� (1) �������
 ABC ��%�

	

c2 = a2 + b2 − 2ab cosC.

A

B C

31
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� C �����!������"���%�	��=��

��

A

B C
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���

��
 ABCD#��
����
 AEF���

E � BC ��� F � CD ���� AE = 1�

���� �

A B

D C

E

F

α

β

1

����
���%��%�+�"�����

sin(α − β) = sinα cosβ − sin β cos α

�

cos(α − β) = cos α cosβ + sin α sin β.

�		��
�!�
�#����
���%��%�	�


+�"���

sin(α + β) = sinα cosβ + sin β cos α

�

cos(α + β) = cos α cosβ − sin α sin β.
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����� α � β �
 ��!��+�"��
�	�
+�

"�!�2������

A B

D C

E

F

β α

1

�
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��������+ α + β ��
�
6��!

	��

α β

��������
��!�
���-���

���� α + β ���

��������)� AC = BC =
√

5, AB =
√

10����

�
 ABC ��!����
������α + β = 45◦�

α β

β
A

B

C

�������������+ α + β + γ����
���

!��# �
�

α

β

γ

�	Ǳ�'������+ α + β + γ ���
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�����

���2��������+ α + β ������������

[��������!�
��� α � β ��Ǳ��� 3 + i �

2 + i �[����

3 + i =
√

10(cosα + i sinα)

2 + i =
√

5(cosβ + i sinβ).


�
�������

(3 + i)(2 + i) = 5
√

2(cos(α + β) + i sin(α + β)).

�

(3 + i)(2 + i) = 5 + 5i = 5
√

2(cos 45◦ + i sin 45◦),

$ α + β = 45◦�
�	��������[������ α + β + γ ��� �

36


